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1200 312, 600 531, 400 378, 000 642, 600
1350 329, 200 559, 600 404, 800 688, 100
1500 345, 600 587, 500 429, 100 729, 400
V200 70, 500 105, 700 75, 600 113, 400
V250 72, 200 108, 300 77, 300 115,900
V300 73, 100 109, 600 78, 200 117, 300
V350 75, 200 112, 800 79, 900 119, 800
V400 77, 800 116, 700 84, 400 126, 600
V450 86, 000 129, 000 92, 800 139, 200
V500 90, 600 135, 900 97, 600 146, 400
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7 v J A E — v T Ik
THFES i LM 2%
453 (HA7 . 5 ARXn AR )
IIRONES 200 250 300 350
SERERY (K) — 2,040% 3 2,040X 3 2,040% 3
AR L B () 1,530% 12 1,790X 8 1,790 X 9 1,790 X 12
FEIAR IV b (OK) — — — 1, 790 X 32
SEIRERY (OK) 1,360% 3 1,360X 6 1,360X 6 1,360X 6
oV (K) 1,360X 1 5, 780X 2 6, 040X 2 6,290 X 2
oV (K) 2,980 1 — — —
oV (K) 2,980 1 — — —
my b Y= ¥y () 770X 4 1,100X 2 1,100X 2 1,100X 2
my b= vy (OR) 770X 2 — — —
HEMER 2 Ml (OK) 1,190% 1 1,450 % 1 1,700% 1 1,960 % 1
IIRONES 400 450 500

SERERY (K) 2,380% 3 2, 720X 3 3,200% 3
AR L B () 1, 790X 12 2,130X12 2,500X 12
AR L B () 1, 790 X 32 1, 790 X 36 2,100X 36
SEIRER Y (K) 2,040X 6 2,040X 6 2,400X 6
oV (K) 6, 550X 2 6, 800X 2 8, 300X 2
my b= 9%y () 1,100X 2 1,100X 2 1,100X 2
HEESS FH2 Ml () 2,210% 1 2,550% 1 2,550% 1

347 (Hh7 . 5 ARXn A )
IIRONES 600 700
SERERY (K) 3,570X 3 3,910X 4
SERERY (K) 3,570X 6 3,570X 6
FIAR LV b (OK) 2,210%12 2,720X 8
FIAR LV b (OK) 2,210% 14 2,720 X 14
FIAR LV b (OK) — 2,210X 9
oV 7 (A) 7,230X 1 7,650X 1
oV 7 (A) 7,480 X 2 7,900X 2
oV v7 (&) 90X 2 150X 2
my b Y= 9%y () 1,700 X 4 1,700 X 4
HEVEAE ]2 My () 3,060X 1 3,490% 1
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247 (Hh7 . [ ARAXnAK )
IIRONES 200 250 300 350
SERERY (K) — — — —
FIAR LV b (OK) 1,530X 6 — — 2,100X 16
SEIRERY (K) — 1,360X 3 1,360X 3 1,360X 3
oV (K) 2,980 1 5, 780X 1 6,040X 1 6,290X 1
oV 7 (k) — — — —
my N Y= ks () 770X 2 1,100X 2 1,100X 2 1,100X 2
HEMER 2 Ml (OK) 1,190% 1 1,450 % 1 1,700% 1 1,960 % 1
IIRONES 400 450 500 600
SERERY (K) — — — 3,570X 6
FEIAR LV b (OK) 1,790 X 16 1790 X 18 1790 X 18 2,210 X 14
SEIRER Y (K) 2,040% 3 2,040X 3 2,040% 3 —
oV (K) 6,550X 1 6, 800X 1 7,060 % 1 7,230 X 1
oOVy7 (K) — — — 90X 2
my N Y= ks () 1,100X 2 1,100X 2 1,100X 2 1,700X 2
HEMEAS 2 Ml () 2,210X 1 2,550%X 1 2,810 1 3,060%X 1
IIRONES 700 800 900 1000
SERERY (K) 3,910X 6 3,910X 7 4,080 % 7 4,250X 7
AR L b () 2, 720X 14 2,720X 12 2, 720X 14 2,720X 16
SEIRER Y (K) — — — —
oV (K) 7,650 % 1 8,080 1 8,500X 1 8,930 1
oV (K) 150X 2 150X 2 150X 2 270X 2
my N Y= vk () 1,700X 2 1,700X 2 1,700X 2 3,060X 2
HEMERS 2 Ml () 3,490 X 1 3,910X 1 4,340 % 1 4,760% 1
IIRONES 1100 1200 1350 1500
SERERY (K) 4,250X 7 4,590 X 6 4,590 X 6 4,930X 6
AR L B () 2,720X 16 3,320X 16 3, 320X 16 3, 320 X 24
SEIRER Y (K) — — — —
oV (K) 9,350X 1 9, 780X 1 10, 200X 1 10, 630X 1
oV (K) 270X 2 270X 2 270X 2 —
my N Y= ks () 3,060X 2 3,060X 2 3,060X 2 —
HEMER 2 Ml (OK) 5,190 X 1 5,610X 1 6,040 X 1 6, 460X 1
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ey Mk

(BAZ 1 A X n A

)

IOV Bod=t"y b (fE) SN ER -y () th=hyh=tTy b ()
200 22,400X 5 51,500X 2 22,500X 3
250 31,500X 4 29, 250X 2 28,100X 2
300 31,500 X 4 29, 250X 2 28,100 X 2
350 39, 750X 4 42, 750X 2 36, 000X 3
400 39, 750X 5 42, 750X 2 36, 000X 3
450 45, 000X 4 48, 750X 2 43,500 X 2
500 45, 000X 5 48, 750X 2 43,500 X 2
600 51, 700 X 11 97,500 X 2 —
700 51, 700 X 13 97,500 X 2 —
800 54, 000X 13 148, 000X 2 —
900 54, 000 X 15 148, 000 X 2 —
1000 74, 200 X 16 172,000 X 2 —
1100 74, 200 X 17 172,000 X 2 —
1200 85, 500 X 17 172, 000X 2 —
1350 85, 500X 19 172,000X 2 —
1500 85, 500 X 15 172,000 X 12 85, 500X 3
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7 v 7 v x — ) I = T ik
WO W & HOfi X
453 (HA7 . [ /AKX nAK
IIRONES 200 250 300
SERERY (K) — 2,040% 3 2,040X 3
AR L B () — 1, 790X 9 1, 790X 9
FEIAR L R (2!:) 1,530% 12 2,130X12 2,130X 12
SEIRERY (K) 1,360% 3 — —
oV (K) 1,360X 1 1,190X 1 1,280% 1
oV (K) 2,980 1 2,980% 1 2,980% 1
oV (K) 2,980 1 2,980% 1 3,230X 1
my N Y= ks () 770X 4 1,110X 4 1,110X 4
my N Y= vk () 770X 2 1,110X 2 1,110X 2
HEVEE ]2 My () 1,190X 1 1,450 X 1 1,700X 1
347 (Hh7 . 5 ARXn A )
RO 350 400 450 500
SERERY (K) 2,040% 3 2,380% 3 2,720X 3 2,720X 3
FEIAR LV b (OK) 1,790 X 12 1,790 X 12 2,130%x12 2,130%x12
FEIAR L b (2!:) 10, 200X 4 10, 200X 6 10, 200X 6 10, 200X 6
SEIRERY (K) — — — —
oV (K) 2,980 1 2,980 1 3,230% 1 3,230% 1
oV (K) 130X 2 130X 2 130X 2 130X 2
oV (K) 3,230% 1 3,230% 1 3570 X 1 3570 X 1
oV (K) 130X 4 130X 6 130X 6 130X 6
my N Y= ks () 1,190X 2 1,190X 2 1,190X 2 1,190X 2
ny b Y= vk (OK) — — — —
HEMEAS 2 Ml () 1,960 % 1 2,210X 1 2,550% 1 2,810%X 1
D?U{% 600 700
E 'JH%EZ\ 7 (R) 3,570X 3 3,910X 4
SEIAERY (K) 3,570X 6 3,570X 6
AR N () 2,210X12 2, 720X 8
AR B (K) 2,210%X 14 2, 720X 14
FEAR L & () - 2,210X° 9
oV 7 (A) 7,230X 1 7,650X 1
oV v7 (A) 7,480 X 2 7,910X 2
oV (K) 90X 2 180X 2
my N Y= ks () 1,700 X 4 1,700 X 4
HEXEE ]2 My () 3,060X 1 3,490% 1
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258

(AL 1 ARX n K

JJ
IIRONES 200 250 300
AR L B () 1,530X 6 2,130X 6 2,130X 6
oV (K) 2,980 1 2,980 1 3,230% 1
my b Y= ¥y () 770X 2 1,110X 2 1,110X 2
HEMESS 2 Ml () 1,190X 1 1,450 X 1 1,700 X 1
IIRONES 350 400 450 500
FIAR LV b (OK) 10, 200X 4 10, 200X 6 10, 200X 6 10, 200X 6
oV (K) 3,230% 1 3,230% 1 3,570X 1 3,570X 1
oV (K) 130X 4 130X 6 130X 6 130X 6
my b Y= 9%y () 1, 190X 2 1,190X 2 1,190X 2 1,190X 2
HEMER 2 Ml (OK) 1,960 % 1 2,210X 1 2,550%X 1 2,810 1
IIRONES 600 700
SERERY (K) 3,570X 6 3,910X 6
FEIAR LV b (OK) 2,210% 14 2,720 X 14
SEIRERY (K) — —
oV v7 (A) 7,230X 1 7,650X 1
oV (K) 90X 2 150X 2
my b= ¥y () 1, 700X 2 1,700X 2
HEVEE ]2 My () 3,060X 1 3,490% 1
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ey b EffiER

(HLA7 X n il

IIRONES 200 250 300
Byh=t"y b () 22,400X 5 31,500X 5 31, 500 X
SR (fE) 51,500X 2 87, 000X 2 87, 000 X
Th-hyh-t b () 22,500% 3 28, 100X 3 28, 100 X

IIRONES 350 400 450 500
hyf-tT o (fE) 31, 500X 4 31,500X 5 31, 500 X 31, 500X 7
SRED -y () 112, 000X 2 112,000 X 2 112, 000 X 112,000 X 2
Th=hyh=ty b () 36, 000X 3 36, 000X 3 36, 000 X 36, 000X 3

IIRONES 600 700
Byh-t"y b () 51, 750 X 11 51,750 X 13
SRRy (fE) 97,500 X 2 97,500 X 2
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7 v 7 L E — b A — XN — 9r T IE
THRELS G BN 22
559 %E| (HAL . /ARXnA )
IEOMEE jr250
SEIARERY (K) 2,040%X 3
SEIARERY (K) —
AR L b () 1,790% 18
AR L b () 1, 790X 15
oV 7 (k) 6, 800X 3
oV 7 (k) 6, 040 X 1
oV 7 (k) 1,330% 2
my N Y= vk () 1,110X 6
= Lt (B0 130X 4
HEMESS FH 2 M () 1,450 X 1
4537 353 (BAL: [ /AKX nAK )
IBRONES jr250
SEIAERY (K) 2,040% 3 2,040% 3
SEIAERY (K) — —
AR L B () 1,790 X 9 1,790X 9
AR L b () 1, 790X 12 1, 790X 6
oV 7 (k) 6, 800X 2 6, 040 X 1
oV 7 (k) 6, 040 X 1 1,330% 1
oV v7 (&) 1,330 0 130X 2
my N Y=n vky () 1, 110X 6 1, 110X 2
= Lt (B0 130X 4 130X 3
HEMERS F 2" Ml () 1,450 X 1 1,450 X 1
25| (HAL [ /ARXnAK )
IEOMEE jr250
SEIARERY (K) —
SEIARERY (K) —
FEIAR L b () 1, 790X 6
oV 7 (k) 6, 800X 1
oOVy7 (K) —
my N Y=n vky () 1, 110X 2
= Lt (B0 130X 2
HEXESS F 2 M () 1,450 X 1
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T v 7 )L — ) A — )N — « X — )X — jr T Ik
THRES G BN 2%
553 4537 (BAL: [ /AKX nAK )
IBRONES jr300
HEIAERY (K) 2,040%X 3 2,040% 3
HEIAERY (K) — —
AR L b () 1,790 X 12 1,790 X 12
AR L B () 1,790% 18 1, 790X 12
oV 7 (k) 6,380 % 1 6,380 % 1
oV 7 (k) 6, 380X 3 6, 380X 2
oV 7 (k) 130X 4 130X 4
my b= vy (OR) 1,110X 4 1,110X 4
HEHEAS 2 MR (OR) 1,700% 1 1,700% 1
357 (HAL [ ARXnAK )
PAGNES 3r300 jr350 jr400 jr450
HEIAERY (K) 2,040X 3 2,040X 4 2,3800% 4 2,720X 4
HEIAERY (K) — — — 2, 720X 3
AR L B () 1,790 X 12 1, 790X 6 1,790 X 10 1,790 X 14
AR L b () 1, 790X 6 1,790 X 4 1,790 X 6 2,210X 9
oV 7 (k) 6,380 % 1 6, 380X 1 6, 380X 1 6, 800X 1
oV 7 (k) 6, 380X 1 6, 380X 1 6, 380X 1 6, 800X 1
oV 7 (k) 130X 4 130X 2 130X 2 130X 2
ny b Y- Ry (OK) 1, 110X 2 1,110X 4 1,110X 4 1,110X 4
HEHEAS 2 Ml OR) 1, 700X 1 1,960X 1 2,210X 1 2,550% 1
INAGN2S jr500 600 700 800
HEIAERY (K) 2,720X 4 3,570X 12 3,570X 6 3,910X 12
HEIAERY (K) 2,720X 3 — 3,910 X 4 —
AR L B () 1, 790 X 34 2,210X24 2,720 X 14 2, 720X 20
AR L B () — — 2,210X 8 —
oV 7 (k) 7,060X 1 7,480 % 1 7,650X 1 8, 080X 1
oV 7 (k) 7,060X 1 7,230X 1 7,910X 1 8,330%X 1
oV 7 (k) 130X 2 150X 2 150X 2 150X 2
my N Y= ¥y () 1,110X 4 1,700X 4 1,700X 4 1,700X 4
HEHEAS 2 Ml OR) 2,810X 1 3,060X 1 3,490X 1 3,910X 1
IOV 900 1000 1100 1200
HEIAERY (K) 3,910X 6 — 4,080 % 6 —
HEIAERY (K) 4,080 % 4 — — _
AR L B () 3, 230X 12 — 2,720 X 14 —
AR L B () 2,720X 8 — — —
oV 7 (k) 8,500 % 1 — 9,350%X 1 —
oV 7 (k) 8, 760X 1 — — —
oOVv7 (K) 150X 2 — 270X 2 —
my N Y= ¥y () 1,700X 4 — 3, 060X 2 —
HEHEAS 2 MR (OR) 4,340% 1 — 5,190X 1 —
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245 % (pr:H /AXn Ak )
ROV 300 350 400 450 500
DERHERY (K) — 2,040 X 4 2,380%X 4 — 2,720 X 4
DERERY (K) — — — 2,040 X 3 -
HEARIL b () 1, 790X 6 1,790X 6 1, 790 X 10 1,790 X 18 1,790 X 16
oV 7 (K) 6,380X 1 6,380X 1 6,380X 1 6,800X 1 7,060% 1
OV v s (k) 130X 2 130X 2 130X 2 — 130X 2
ny b Y= vk (R) — 1,110X 2 1,110X 2 1,110X 2 1,110X 2
]%ffjajzﬁ 1, 700X 1 1,960 % 1 2,210% 1 2,550% 1 2,810% 1
ROV 600 700 800 900
DERHERY (K) 3,570X 6 3,570X 6 3,910X 6 3,910X 6
DEIRERY (K) — — — —
MOAR L B () 2,210% 10 2,720 X 14 2,720 %X 10 2,720 X 12
oV 7 (K) 7,480 % 1 7,650% 1 8,080X 1 8,500X 1
OV v’ (k) 150X 2 150X 2 150X 2 150X 2
my N Y= vk () 1,700X 2 1,700X 2 1,700X 2 1,700X 2
1%§§f513: o 3,060% 1 3,490 % 1 3,910% 1 4,340% 1
ROV 1000 1100 1200 1350 1500
DERHERY (K) 4,080 %X 6 - - — —
DEIRERY (K) — — — — —
MOAR L B () 2,720 X 14 — — — —
oV 7 () 8,930%X 1 — — - —
OV v (K) 310X 2 — - — —
ny b= Ry () 3,060X 2 — — — —
]?ffjajzﬁ 4,760% 1 5,190% 1 5,610% 1 6, 040X 1 6, 460X 1
BX RS b — — — 5,100% 4 5,100% 4

¥ T NE—LA——
FNENT I ILF— )L A —r—

TarT 47 EUE13503 L TN500D TEFESS S,
FEOME 135048 K TM500 & Hid,
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7 v J N F — ) = )L T Ik
THRET i BT %

35y | (Bfr . [ /AXnAK )

& A Ut 600 700 800 900 1000
SERERY (K) 3,910X 6 3,910X 6 4,590X 6 4,590X 6 4,760% 7
SERERY (K) 3,910X 4 3,910X 4 4,080% 4 4,080% 4 4,080% 4
FEAR L () 2,720%10 2,720%X 16 3, 320X 12 3, 320X 16 3, 320X 24
oV 7 (K) 7,230% 1 7,650% 1 8,080 X 1 8,500 X 1 8,930 X 1
oV 7 (k) 130X 2 130X 2 130X 2 130X 2 130X 2
oV 7 (k) 150X 2 150X 2 150X 2 150X 2 270X 2
oV 7 (K) 7,230% 1 7,650% 1 8,080 X 1 8,500 X 1 8,930 X 1
ny b Y= vy () 1, 700X 4 1, 700X 4 1, 700X 4 1, 700X 4 3,060X 4
24y | (Bfr . [ AXnAK )

& A Ut 600 700 800 900 1000
SERERY (K) 3,910X 6 3,910X 6 4,590X 6 4,590X 6 4,760% 7
DERERY (K) — — — — —
FOARL N (OR) 2,720X 4 2,720X 8 3,320X 6 3,320X 8 3,320 12
oV 7 (K) 7,230% 1 7,650% 1 8,080 X 1 8,500 X 1 8,930 X 1
oV 7 () 130X 2 130X 2 130X 2 130X 2 130X 2
o7 (K) 150X 2 150X 2 150X 2 150X 2 270X 2
oV 7 (K) — — — — -
ny b V= vy () 1, 700X 2 1, 700X 2 1, 700X 2 1, 700X 2 3,060 X 2
ANV (Hpr [ /AXn A )

o PO 600 700
DERERY (K) 3,400X 4 3,910X 4
AR L B () 2,720X 6 2,720X 8
oV 7 (K) 7,230% 1 7,650% 1
HEAER H " M () 3,060% 1 3,490X 1
05 1) il 48 75 (Hpr [ AXn A )

& B WUt 800 900 1000
SEHERY () 4,080% 4 4,080% 4 4,080% 4
AR L B () 3,320X 6 3,320X 8 3,320X 12
oV 7 (k) 8,080 1 8,500 1 8,930 1
my N V= ¥y (OR) 1, 700X 2 1, 700X 2 3,060X 2
HEE A Fa” M (%) 3,910% 1 4,340% 1 4,760X 1

vy hEAE
(BAAL : M X nfll )
IOV 600 700 800 900 1000

Hop-t b (f#) 51,700 %X 15 54, 000 X 16 54, 000 X 16 74,200 X 16 74, 200 X 21
FLERy - v b (f#) 97,500 X 6 148, 500X 6 148, 000X 6 172,000 X 6 172,000 X 6
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T v v F — vV T
THRESD & B R

557 &l (B2 : 1 KXnAK )

IEOVEE V200 V250 V300 V350 V400
SERAERY (R) — — — 2,040% 3 2,040% 3
WOARL b () 940X 12 940X 12 1,530X 12 1,790X 9 1,790X 9
ARV b () 1, 280X 20 1,280x28 1,280 16 2, 130X 12 2, 130X 12
WARL b () — — 1,360 10 — —
SyEIRER Y () — — 1,360X 3 — -
OV 7 (k) 1,020% 1 1,020 1 1,360 1 1,190X 1 1,280% 1
OV s (k) 2,720X 3 2,720X 3 2,980 % 1 2,980 % 1 2,980 % 1
OV T (K) 130X 8 130X 8 2,980 % 1 2,980 % 1 3,230% 1
oV v (K) — — 130X 2 — —
oV (K) — — 130X 1 — —
ny b Y= Ry () — — 770X 4 1,110X 4 1,110X 4
ny b Y= Ry () — — 770X 2 1,110X 2 1,110X 2
HEMER 2" Ml () 680X 1 850X 1 1,190X 1 1,450 X 1 1,700X 1
457 (B2 : 1 AXnAK )

IEOVEE V200 V250 V450 V500
SERERY (R) — — 2,040% 3 2,040% 3
AR L b () 940X 12 940X 12 1, 790X 12 1, 790X 12
HARL b () 1, 280X 20 1,280x28 1,280%4 1,280%6
OV 7 (K) 1,020% 1 1,020 1 1,020 1 1,020 1
OV s (K) 2,720X 3 2,720X 3 2,720X 2 2,720X 2
OV T (K) 130X 8 130X 8 130X 1 130X 1
oV (K) — — 130X 4 130X 6
ny b Y= Ry () — — 1,110X 2 1,110X 2
HEMEE 2" M () 680X 1 850X 1 1,960 %X 1 2,210X 1
357 (B2 : 1 KAXnAK )

IEOVEE V300 V350 V400 V450 V500
ARV b () 1,530X 6 2,130X 6 2,130X 6 10, 200 X 4 10, 200 X 6
WARL b () 1,360 10 — — — —
OV 7 (K) 1,360 1 1,190X 1 1,280% 1 2,980 % 1 2,980 % 1
OV 7 (K) 2,980 1 — — 130X 2 130X 2
OV 7 (K) 2,980 1 2,980 1 3,230 1 — —
my N Y= Ry () 770X 2 1,110X 2 1,110X 2 1,190X 2 1,190X 2
HEMEE 2" M () 1,190X 1 1,450 X 1 1,700X 1 1,960 X 1 2,210X 1
257 E (B2 : 1 KXnAK )

IEOVEE V200 V250 V300 V350 V400 V450 V500
WARL b () 1,280X 6 1,280X 6 1,530X 6 2,130X 6 2,130X 6 10, 200 X 4 10, 200 X 6
OV 7 (K) 2,720X 1 2,720 X 1 2,980 % 1 2,980 % 1 3,230% 1 3,230% 1 3,230% 1
OV 7 (K) 130X 2 130X 2 — 2,980X 2 — — —
ny b Y= Ry () — — 770X 2 — 1, 110X 2 1,190X 2 1,190X 2
HEMER 2" M () 680X 1 940X 1 1,190X 1 1,450 X 1 1,700X 1 1,960 %X 1 2,210X 1

vy b HARE
(HEA7 : 1 X nfll )

IEOVEE V200 V250 V300 V350 V400 V450 V500
hyf-t"yb () 20,250X 4 | 20,250X 6 | 22,500X 5 | 31,500X 5 [ 31,500x 5 | 31,500X 4 | 31,500X 5
ShER Iy (fE) 46,500X 4 | 46,500X 4 | 51,750X 2 | 87,000X 2 | 87,000X 2 | 112,000X 2 | 112,000X 2
h=hyh-tTy b (fE) — — 22,500% 3 | 28,100X 3 | 28,100X 3 | 36,000X 3 | 36,000X 3

27




ST U A M A T

1keX4 v

14841 (9. 5ke)

1m®24 V) fik i fik

R

VH

Grz)

1, 7804

16, 910H]

127kg

28




ARt /EXHRFEIH

A # T160-0004 REEERITHRITHEI-8 FIRIAZ2=T1EIL
TEL. (03)5786—9211

BEEXIE  T541-0047 KERTIAHREHERET1-4-9 O.C.SMKHHATE L
TEL. (06)6232—7777




